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B.Com. (Pt. II)

2138-11 Accy. and Bus. Stat. 11

B.Com. (Part II) EXAMINATION, 2015
. (New Scheme)
(10+2+3 Pattern)

ACCOUNTANCY AND BUSINESS
STATISTICS

Second Paper
(Cost Accounting)
Time allowed : Three hours

Maximum marks : 100

Answers of all the questions (objective
as well as descriptive) are to be given in
the main answer book only. Answers
of objective type guestions must be
£ziven in sequential order. Similarly all
the parts of one question of descriptive
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part should be answered at one place i
the answer book. One complete question
should not be answered at different
Places in the answer book.

No supplementary answer book will be
£Ziven [o any candidate. Hence the

candidates should write their answers
preciselv.
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PART-1 {OBJECTIVE)
Maximum marks : 40

Answer of Question no. 1 (i) to (x)
should not exceed 20 words. Fach
question carries 2 marks. Answer of
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.(v)  In how many classes the indirect eXpenses ,
. re
classified under functional clasSiﬁca”oH .

question no. 2 (i) to (v) should not exceed Mention its name.
50 words. Each question carries 4 marks.
5ET w1 (i) 9 (x) &7 6% 20 v @ wrT A fprfra fesar *7Bﬂ$mm-ﬁ
IR T e R v gy 2 am S % T 2y
& &) o " 2 (i) § (v) &7 Iu¢ 50
&t # e T B aiike ) ge :
4 37F #T 21 / i (vi) State the name of four industries where Unjp
l Costing Mcthod is applied.
1. ',(j) What do you understand by costing ? Q’ﬁ IR SE F A ?IHF{“) gl 3?5@ GIUG)
ATTE PR R W w2 o A wEd o w2
3 3 =
| £ = s
“(ii) What do you understand by supplementary =3 =3 (vii) How do you calculate Commercial Tonne Km, ? =3
cost 2 E" E' Eo
o % - griorfae <F MY 59 oeR I 5 e o
WS AN | I T T ¥ 2 g 3 7 S
= =i 2
—_— _—
(u) What '.s. the formula .for determination of (vii) What is difference between joint product and
Economic Order Quantity ? P ”
co-product ¥
ziffmmw PreiRe =1 &1 3@ T Y SeE U4 WE-SRIE W W AR 7
(ix) Statc any four items which are included in
(iv)  What is meant by casual labour ? financial accounts but not in cost accounts.
Foine sHE | T A R 7 fs) T 9 7= @ AW qaTed W ki ot
4 e &) i & ey anra awl § @)
R PTO :
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What do you understand by 'Angle of
Incidence' ?

AT PIOT Y AT T A & 7

If a worker has produced 144 units in place of
120 units in 10 hours and normal rate is Rs. 10
per hour, then find his remuneration according

to Emerson Plan.

afe vF afF 3 10 99Et § 120 HEa & ®=IH
W 144 SHTAT a8 & T WM < % 10 IR
gueT & df 3% ANl & STER 999l g
Tl S FHird |

Calculate the amcunt of Total Material

consumed for production from the following

information :
Rs.
Opening Stock of Raw Material 5,000
Closing Stock of Raw Material 10,000
Purchases of Raw Material 50,000
Carriage inwards on purchased
material 2,000
5 PTO
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Sale of normal wastage 1,000

Charity 500

Material Consumed in Primary Packing 5pq

Pyeferfeer el & SweH & T WFE S
&) 3T s B ¢
Rs.
HE) "I BT ARSS CiP 5,000
Fo) 7Tl B AfT LiF 10,000
Fed AT Bl B 50,000
d_ﬂnﬁﬁaﬁﬁiﬁgﬂﬁ 2,000
T &g o fawa 1,000
a2 500
reifye AfET W WG el 500
calculate

From the following information

total passenger kilometer for the month of

July 2014

Number of buses
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Days operated in the onth 25
Trips made by each bus 5
Distance of route {one side) 30 kms
Capacity of bus 50 passengers
Normal passenger travelling 90% of capacity

Prefafan gomel 3 MR Jar 2014 & R
) fperee A o B -

TH P FE 5
7g ¥ Ta fTad 25
TG T8 BRI T AT S
Hat # W (T 30 fFho
qH B & 50 T

AT A A & B 90%

From the following information® ascertain profit

as per cost books
Rs.
(a) Prefit as per financial 500
profit and loss Alc 6,78,
7 PTO
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(b) Dividend and Interest on Invest-
ment not recorded in Cost Alc

(c) Under-charging of depreciation

in financial A/c 11,500
(d) Loss on Sale of Machinery

not recorded in Cost A/c 1,61,000

P ERil § AT SRl % 3R W
& 7or Piford

Rs.
(2) fada & @ ®1F @ B
HFF < 6,78,500
(b) amie vd faffEnT @ =
AT @ | & T8 41,500
(d) #¥fF famma X =1 ar @
¥ gof A&l 1,61,000

Contract price of an incomplete contract is
Rs. 1,50,000; certified work is Rs. 1,20,000 and
notional profit is Rs. 45,000 and 80% of certified

work has been received in cash. In this situation
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caleulate the amount of profit which is to be

credited to profit and loss AJc.

X3 1 3F S 5. 1,50,000 2 wl©
zfﬂa?\.zo,ooo aun Rt oW o, 45,000 B
aﬂ?uﬂrﬁﬁiﬂﬁiﬂao%mmawm%\
mﬂmﬁﬁmﬂﬁ@ﬁﬁmﬁfhwﬁm
ame w1 PR B

PART-I1 (DESCRIPTIVE)
Maximum marks : 60

Attempt any three questions, selecting
one question from each Section. Each

question carries 20 marks.

T @US § W UF 9 B 99T B g
go i g @ IR Afor | IRT W

20 3% &7 &

Section-A

{ue-3
3. Write short notes on the following :
(i)  Maximum Stock Level
(i) Minimum Stock Level
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(iii) Reorder Level

(iv) Material turnover

frefafea o) e Rl ke

Gy e wih wX

(i) g TE TR

(iii) g ATSY TR
(iv) ST sfad
-~ ~
-~ -
= = Or
=] =
= =
E' E. Calculate Machine ‘Hour Rate-to recover the overhead
:8 :'c'# indicated below relating to a particular machine ;
= =i .
Expenses per annum Rs.
Rent of the department 7,800
Lighting 2,880
Insurance 360
Cotton, Waste, Qil 600
Salary of foreman 12,000
P10 37000 10 A-95
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Additional informations are as follows -

(i) Space occupicd by the machine being one-fifth
of the department,

(i1)

Number of bulbs in the department 12, two
bulbs are used for the machine.

(iii)  One-fourth time of foreman is occupied on the

machine and the residual time g spent equally
upon the other two machines.

(iv)  The cost of machine is Rs, 9,200 and it has an

estimated scrap value of Rs. 200.

(v)  Machine will work for 1800 hours Per annum,

(vi)  Machine will require expenditure of Rs. 1,440
for repairs and maintenance during the whole

working life of machine.

(vii) Machine consumes 2 units of power per hour
at the cost of Rs. 1.50 per unit.

(viil) Working life of the machine will be 18,000
hours.
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v Ry AT @ wfia Prafafgd saRerl @
areimYr @ @ foq wehe Aver W S A -

s s,
T @1 el 7,800
N 2,880

- 360

ot e 600
ERAT BT 3T 12,000
Prefafaa afaRes g@=m Soee & :

() e g R @ ) v o R

(ii) RrrT 4 el 769 12, T 4 QU 99 §9 T W
ganT § il @ B

i) oeE P ) w T A W e 9
aXaY @ &7 5T AT WY S A 2

(iv) = @ G 9T . 9.200 ¥ 3R Sl A

IR 69 T, 200 B
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v) 'mﬁm.sormuammm‘

(vi) W Ot S # ww v -

T H AT 1440 B WS B s
g

(vii) I8 7EF ufd a vfm DN 2 e = swm
el & e drg %, 1.50 ofY gfe ¥y

(viii) WA B FEAAA I 18,000 T Brft |

Section-B

Hue-q

What is meant by contract costing method ? Where
this method is used ? What are the different methods

of calculating profit on the incomplete contract ?

Explain with illustrations.

35 o PR RAA T 2 P M RA S W
uﬂﬁaﬁ%?wmﬁwmmmﬁﬁﬁﬁﬁ

RRRT B9 £ ? ISR S} GHEEd |
A-95 13 PTO
rtuonline.com

WO duIjuon}i

wodauijuonia

37000 14

rtuonline.com

Or

Two joint products Qand R are produced in the course
of manufacturing of product £. Their product cost

expenses and selling prices are as follows :

Joint  Separate Sales Profit%

Expenses Expenses

P Q R

Rs. Rs. Rs. Rs.

Materials 12,550 2,000 1,500 1,800

Labour 8,000 2.400 1,400 1.700

Production

Overheads 9,000 2,600 2,100 2,000

Sales - 45,000 20,000 18,000
Profit% 1

on Cost - 50% 25% 33 5%

Apportion joint cost and prepare process account of

each product.
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CIERA
. p R
Ed £ 5,
| 12,550 2,000 1,500 1,200
8Tq 8,000 2.400 1.400 1.700
JIWEA
EUITED 9,000 2,600 2.100 2,000
CEa - 45000 20,000 18,000
\ [+]
A% ATA W - 50% 25% 33—3 Vo

HYFR ARl B JTAS A T D TR B o
uishdr @ gl |
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—
HUET

. . —— T - ar t
s Rex Lid furnishes the foilswisg mformaticn for the

year 2015 :

Periad Jazuvary to June Joly o mber
Rs. Rs.

Sales 13,350,000 13.00,000

Total Cost 12,00.000 12,90,000

Assuming that fixed expenses are incurred uniformly
in both the pericds, calculate the following for the year
2013 :

(i) Fixed Expenses
(i)  Break-Even Sales
(iii) Margin of Safety

(iv) Sales to eam a profit of 10% on Sales
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- =

i s T 1003 o T T S e

T Entii- Ao e & euae
e =
aE= 13,530,000 13 00.000
ESEGINE! 12,06 400 1280000

T WG ¢ (& 98 B A SEEal 3 N Rl R
=i f59 8, 2013 o & fox o = demen
HAT :

0 =
(i) Eo-Tot T3
(i) G A
(iv) RSa R 10% M s ¥ Jews e ol
Or

From the following particulars calculate the following

matenal vanances :

(1) Material Cost Varance
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(ii)  Material Usage Variance
(iii) Material Price Variance
(iv) Material Mix Variance

(v) Material Sub-usage Variance

Material Standard Actual
Qry. (kg) Price  Qty. (kg) Price
(Rs.) (Rs.)
A 10 8 10 7
B 8 6 9 7
c 4 12 5 11

Ryfafaa fraeel & P gl fowet @ ok
IR -

O L UGG RECES

() |rTl SuIm R

(i) T g e
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(%) fm) )
) 10 1
6 9 1
12 5 1
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